PART—A

D SPOTTING ERRORS ) (b)
rections : Iu‘“"‘ !
and (c). Re : Each item in this section has 2 sentence with (hree und plined |"‘l'| ylined par! nd
indicate ad each sentence to determine whether there 19 any eror in Y ““(‘.‘ o (M) or (o)
your response in the Answer Sheet against the corrcslmntlinﬂ lettery B0
uld be indicated 23 (d).
qve dny®

If you fi
ind no error, your responseé sho

1- . 1 "
A company of five thousand soldiers: Wﬂ) —
ny of Ve —— (b

(a)
have just moved into their cantonment. No error
(c) (d)

ght

2. Every person Who pelieves in principles W
(a) (b)

for their convictions No error
(c) (d)
3. The Olympic Games reflects the highest spirit of
(a) (b)

r and achicvcmcnt. No error

human endeavou
) (d)

(c
4. The principal of the school M mongst the Ludents
amongst 10T —————
(a) () o
No error
(d)

SDFR-F-TAG/44A



5. Wailure in )
8 h .

' ¢ Mhping stone to success;
- . ’

-

() —_— however, successive failures are not

successive .
Mf\m’,“‘ll stones to success

No error
——

) (@

6. Indin's strengt
_SH _J_\w its diversity of culture angd

() (b)
the spirit ‘Ew No error
(c) (d)

7. Once considered ninth planet of the solar system,

(b)

Pluto is today listed as the

(@) (b)
largest dwarf planet of the solar system. No error
() (d)
8. The greatest glory in life is to be able to realize ones dreams and ambitions
(@) (b)
without trampling on those of others. No error
(c) (d)
9. To be able to manage one’s anger is a reflection of an individual’'s
(@) (b)
psychological maturity. No error
(c) (d)
10. A honest mistake is no more than that; just an honest mistake. No error
(a) (b) (c) (d)
SDFR-F-TAG/44A 3
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: Given below ar

pirections :
most appropriate answer from

Cchoose the

11. Counting your chickens
(a) confident of success

(b)
(c) being
money
getting scared becauseé

g wealth

greedily accumulatin
spending

careful about

of danger

(@

12. The icing on the cake

(a) baked food that
delicious with a toppP

extra benefit over amn
already good deal

getting what you asked for
re than what is needed

is delicate and

ing
d above an

(b)

(c)
(d) mo

13. A stitch in time
(a) tailoring one’s €

(b) making an effort to

(c) inability to take tim
action that

(d) timely
negative ou tcome

fforts efficiently
succeed
ely decision

prevents a

14. At sixes and sevens
(a) on top of the situation

(b) state of denial
al confusion

state of tot
d and prepared

(<
(d) well- planne

15. Talking twenty to the dozen
(a) talking hurriedly and rapidly

(b) talking too much
talking without making sense

(c)
(d) talking out of turn

SFR-F-TAG/44A

ases follo
ons (a},

e some idioms
among th

ur alternative meanings to
“ach.

wed DY fo
(b), () and (d)-

er the weather

16 und
(a) walking in the rain
(b) controlled by the elements
(c) prowbeaten by the heat
(d) unwell

it on the fence

17. To s

(a) t° act promptly

(b) to be lazy

c) to be undecided

(d) to sit without doing anything
18. Once in a blue moon

(a) romantic moment

(b) occasionally

(c) rarely

d) often
19. Through thick and thin

nuine friendship
thing

(a) in 8€
(b) through

among P€o
through difficult times

the best of every
(c) ple both fat and slim
(d
20. Like chalk and cheesé
(a) very different from each other
(b) without any blemish
(c) pure white in colour

(d) very like each other



SENTENCE rts ich hav”
ORDE N B e, the P2 are foU
Directions : Bach o RING o wORDS ! - sentirl‘:w cach :tzn;;: Lentence

. the f L sists % . en P a
been jumbled. These ollowing items in this sectio® con LS. wahe 5 umbled p
€

Part
S€quences namely (@) (b) 7 have been labelled P, Q- X rcarraﬂg
b ) C .
and mark your response )and (d). You are required *° ¢ dealin®
s O

accordingl
21. but perha sk

PS the be
S :
t way is to agree tomers
P t cus
) o ot ansigerl
with them Without ) Wlth n S
€Xcessive argumentation

The correct Sequence should be

(@ QPRS (b) QSPR
omic developrnerlt
: on
22. in the years following India achieved remarkable =
’ ° 'naugurated via
i
liberalization in the year 1991 the landmark l'eformss
R
The correct sequence should be
(a) PQRS (r) PRSQ
() SPRQ (d QPSR
i ena of sport, perhaps
23. was the victory secured by the women’s hockey team l_n_t_h—e’ar/”a’/

P

against Australia in the Tokyo Olympics
R

the greatest moment in Indian Olympic history
S

The correct sequence should be

(@) SPQR (b) RPQS
(c) QSPR (d) QRPS
SDFR-F-TAG/44A 5



ss of a nationt

24. in terms of GDP and GNP, for gauging the succe
Q .
F d
:a determine
: : rogreSS 1S
which are the two major determinants economic P =
R
The correct sequence should be <
(@ SQRP (b) RP?DS
(c) SPRQ (d) QR
f straw
not men o
25. with the aplomb of a stage artist, W

P ible into believing

S

they can twist and shake their wobbly heads

R
The correct sequence should be ) RPSQ
(a) PRQS .
(c) SPQR (d) QRPS

and on the other there are

Q

26. of its rain-soaked verdure
P

the artifacts of its visible modernity
S

on the one hand there is the immens¢ beauty
R

The correct sequence should be

(@) PRQS (b) QRSP

(c) SPQR (d) RPQS

27. are often rooted the causes of extreme poverty
P Q R

in the inequalities of social systems
S

The correct sequence should be
(@) QRPS
(c) SRQP

(b) QRSP
(d) SRPQ

SDFR-F-TAG/44A



erson b :
y the way he behaves and W
R

P
Q

28. a P

not by the way he looks
S

The correct sequence should be
(a) RPQS
(b) QRSP
(c) RSQP
(d) QPSR

'scOfﬁfort
est number of people that cause® the least B
Q

29, to the great
P
ver in doubt always opt for the option

wheneé
R S

The correct sequence should be

(@) RQPS
(b) QRSP
() RSQP

(@) QPSR

the despondency our greatest de

rought by bad times against
R

30. b
P Q

faith and belief are
S

The correct sequence should be

(@) RQPS
(b) SRQP
() RSQP
(d) QPRS

CFR-F-TAG44A
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tach item in this sectlo

Directions :
select

by four words (a), (b), (c) and (d).

; sWC
and mark your responsc 11 your Ans

31. He is essentially a crude person.

(a) coarse
(b) refined
(¢) cager
(d) balanced
32. His confidence 18 high.
(a) diffidence
(b) cagerncss
(c) steadfastness

(d) endurance

33. His '_"_“l”_tl is noticed.
(a) skilfulness
(b) abilty
(c) dependability
(d) dishonesty
34. She is a benevolent individual.
(a) clever
(b) muddled
(c) malevolent

(d) ambivalent

5. His sartorial manner is judged.
(a) unstylish
(b) uncompromising
(¢) common

(d) crude

R-F-TAG/44A

n consists of

ce with an underlined word fo]]wmfJ
n e to the underlined v,

i i thentic.
36. This picce of art is authentic

() gcnuinc
(b) expensive
(c) rarc

(d) fake

lati
37. The deluge affected the popuiation.
(a) cloudburst

(p) drou ght
(c) dcforcstation
(d) drizzle

38. His dedication is known to all.
ot ot i

(a) clarity
(b) hostility
(c) apathy
(d) anger
39. His perspicacity was remarkable.
(@) smartness
(b) dullness
(c) dedication

(d) deviousness

40. He has a penchant for spicy food.
(a) tendency
(b) affinity
(¢) fear

(d) dislike



SYNONYMS fonowed
; : . WO
Directians d Each item in this section consists of 2 sentence with an underl! nderhned wor
four WOras (@), (b), (c) and (d). Select the option that is nearest in meaning -
and mark your response in your Answer Sheet accor dingly-
41. After Ef good meal, it is important to pay a 46. He is always jfﬁl
comphrnent to the chef. (@) cheerful
a
ti
(a} P . (b) callous
(b) praise (C) garrulous

(d) credulous

(c) admonish
e these days-

(d) revile
i k is laud 47. Mohan remains moros
” H(l S} w;iaislzw?:th;aj&. (a) introspective
@ y
b generous
(b) laughable (b) j
4 (d) sullen

(d) loud

48. He was a reluctant learner-
j i com ucts
o —Jﬂ arpemier (a) enthusxastlc

43.
(b) eager

(a) capable
(c) unwilling

(b) exceptional
(c) inadept @ 1 sl
earfu
(d) clumsy
49. Amit is optimistic about the prospects of
opr— —
his investments.

n submitting assignments.

44, Heis diligent i
(a) pessimistic

(a) dilly-dallying
(b) uncaring

(b) procrastinating
(c) carefree

(c) intelligent
(d) sanguine

(d) conscientious

50. Sachin is very cooperative by nature.

45, He appears to be reticent.
(a) expansive (a) complaisant
(b) jolly
(c) silent

(d) withdrawn

(b) covert
(c) complacent

(d) conniving

SDFR-F-TAG/44A :
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PART—B ,
f the following statements
ins /explain the existence

51' What.is the mass of ) 4. Wh lai
specific heat capacit; il’:a:%r(;al, wh(:se g correCt1 1:;: force between two electric
for a rise in temperature f J/ (kﬂg C) of 2 P°5
25 °C, when heat receiVedriosmz(l)SkJC?to charg®®
(@ 01kg goth the charées are positive.
1.
() 1ke Both the charges are negative.
2.
() 10kg Soth (he charges are oppositely
3. PO
(@) S kg charged-
ot (he COTTE ct answer using the code
Se eC
g2. The specific latent heat of vaporization Sy peies
of a substance is the quantity of heat
needed to change unit mass from (@ 1 only
(a) liquid to vapour with a change of 1
temperature (b) 2°7 y
(b) liquid to vapour without a change (©) 1 and 2 only
of temperature
(d) 1, 2 and

(c) vapour to liquid without a change
of temperature

(d) vapour to liquid with a change of

temperature
55. An electric wire of resistance 50 ohm is
cut into five equal wires. These wires
allel. What is

53. Evaporation from the surface of a given .
liquid takes place more ra idly when are then connected 1n par
£ & Py the equivalent resistance of this
combination?

(a) the temperature is high and the

surface area of the liquid is large

(b) the temperature is low and the (@ 2 ohm
surface area of the liquid is large
b) 10 ohm
() the temperature is low and the & ©
surface area of the liquid is small
(c) 0-5 ohm
(@ the temperature is high and the
surface area of the liquid is small
q (d) S ohm

“PR-F-TAG/44A 11
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(a) tangential
surface

to the

(b)

the sphere

(c)

at any angle
to
surface the

conducting

(d)

at right angles to the conducti
ng

surface and ou
tward
centre of the sphere s from the

§7. Which' one of the following is not a
solution?

(@) Alloy
(p) Milk
(c) Air

Sugar

(d)
58, Refining of petroleum is carried out using

which one of the following techniques?

(a) Evaporation

(b) Fractional distillation

(¢ Separating funnel

(d Sublimation

DFRF-TAG/44A

ig the correct

60. Which on€ & o " ja  of a:mmOm,‘:;
mOlCCul e _ valency of: ammog)l?
Caﬂ?oTj 1)and carbonate anion is {
ion 18

(a) (NH4)2C03
(b) NH,4(CO3)2
(c) (NH3)2CO3

(d) NH4CO3

61. Which one of the following is a covalent

compound?

(@) Calcium oxide
(b) Sodium nitride
(c) Silicon carbide

(d) Zinc sulphide

13

[P.T.O.



e MMASS number of ar .
62 1::“. of the ',Ouowi'l‘]'ézon‘,s 40. Which sen
state o« i epre
(~m'l~m-t'n ements 18 rep
nv a) Q
(‘,) I'he number of protons in argon (
is 22. (b) Q/m
) The number of neutrons in Qcm
is 18. argon (c)
@ @7

The number of clectrons in argon

is 18.
t requd

en
what 18 he pulb in
66. . andescent

(c)
jred to light a

a domestic

(d) The sum of numbers of protons

and electrons in argon is 40.
supply f
63. which one of the following is the correct (@) 05 A
;re(fe;i,ol\g at:; l\/;’ga l:nmes of elements (b) 025 A
(a) Ne <Mg <N < Si (c) 10A
(d) 50A

(b) Si <N <Mg <Ne

c) Ne <N < Si <Mg
produced by a

67. The magnetic field
ght wire at a point

current-carrying strai

(d) Mg < Ne <N<Si
outside the wire depends

() inversely on the distance from it

4, The frequency of an alternating current

is 3 Hz. It implies that
(b) directly on the distance from it

(a) there are 6 cycles/s
(c) inversely at short distances and

(b) there are 3 cycles/s di _
irectly at large distances from it

() there are 2 cycles/s
ycles/ (d) directly on the distance (at short
: or
(d) there is only 1 cycle/s 328122063) and inversely on the
stance (at long distan
ces) from it
FR-F-TAG/44A 15
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r

.« the dimensi
what is ion of pravitatj
68 conStant? Eiavtationgal

. ML3T 2
(b) M——ILS T—2
(C) M2L-2 T—Z

(d) M2L-1T—-2

A ball is thrown vertically upward with a
speed of 40 m/s. The time taken by the
ball to reach the maximum height would
be approximately

69-

(@ 2 s
(b) 38
() 4s

(d Ss

70. The time period of a 1 m long pendulum

approximates to
(@ 6s
(b) 4 s

(c 2s

(d)

SDFR-F-TAG/44A
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(@)

i t
72. Which on€ of :
stores star oil and protein

(@)
(b)
(c)
(d)

73. Which one€ of

NeitheT

statements about

following
being 18 | are

he . s
non—thng

Jiving peing can demonstrate
. .. pon-living being

monstrates

ing de
non-living

prOCCSSes ’

r using the code

1 nor 2

ant plastids

he following pl
granule s?

ch,
ChloroplaSt
Leucoplast
Cchromoplast

xanthoplast

the following statements

about wacuoles’ is not correct?

(@)

(b)

(c)

(d)

there is a large central

In plants,
of

vacuole that may occupy 90%
total cell volume.

In plant cells, vacuoles provide
turgidity and rigidity.

.In Amoeba, vacuoles have role in
nutrition.

Vacuoles are absent
cells.

in animal

[ P.T.C




ic plants, large air sacs give them

1 aquatt

4. l“l\,)'.\x\(‘) effects.  These  sacs  are
-mrmund(-d by which one of lh‘
b N g ne
joll wing types of tissues?
( pnrcnvhyma
) Collenchyma
(o sclcrcnchyma

(d Ccomplex tissue

which one of the following belongs to
‘Pisces’?

(a) Dogfish
(b) Jellyfish
(c) Silverfish
(@) Starfish

f the following groups is

Which one O
ant kingdom’ ?

called ‘amphibians of pl
(a) Bryophytes

(b) Thallophytes

() Pteridophytes

(d Gymnosperms

F-TAG/44A
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79. A mass

7. Which ot he f()ll()winp,
7 hic :
pacter! hoge!
(a) AIDS
(b) peni feve
(c) COVID—19
(d) Typho fev
due to the
i f a star is
. The nkh.ng o)
at ospheri€
starligh

(@)

(b) reflectio
(c) refr

(d) dispersio

M is dragged by 2 pulley on 2
horizontal plane by a force anti-parallel
to its displacement. The work done in

pulling the mass M is
(a) zero

(b) positive

(c) infinite

(d) negative

[P.T.O.




\ 5N force is defined when
0 '10 kg is accelerated with a mass of

50 cm /s2

(@
(b) 05 m/s2

© 05 cm /s?

(d) 50 m/s2

y A b(_J}’ of mass 52 kg jumps with a

porizontal velocity of 2m/s onto a

stationary cart of mass 3 kg. The cart is

fixed with frictionless wheels. Which one

of the following would be the speed of
the cart?

(@ 215 m/s
(b) 1:89 m/s
© 151m/s
(d) 2:51m/s

9, The energy possessed by a body due to
its change in position or shape is called

(a) thermal energy
(b) potential energy
(c) kinetic energy

(d) electric energy

quency of 1 kHz

3. A sound wave has a fre
How long will it

and wavelength 50 cm.
take to travel 1 km?

(@ Ss
b) 4s
(c) 3s
(d 2s

DFR-F-TAG /44A 21

84. T as cler w:: fo?lt::/ril:gn\:jirlrll be t?le
wie or er electro’ns ;nelu;
::/Z;::ﬁ:te 1 pased Bohr’s ™
an atom
(@ !
) 3
() °
(@ 7
o following ijs not an
o “;t;:r?lpo: Zf a redo¥ reactiont
(@ AICL, +3H20 7 Al(OH) 3 *+ 3HC!
() 2NaH~ oNa +Ha
(c) 4Fe + 302 _,2Fe 03
(d) cusO4 * Zn —»Cut ZnS04

i f
86 0 thh OI"l ) d .

silicon?

(a) Coke

(b) Diamond
(c) Graphite
(d) Coal

87. Which one of the following is the colour of
hydrogen gas?

(a) Light yellow
(b) Orange
(c) Black

(d) Colourless

[ P.T.O.



y

one of the follOW]ng is not
a

whic?

g pig™ ent?

ZinC oxide

(@)
(v ©
o white lead

halk

(d} Silica

; pich one of the following statements
89 about fertilizers is not correct?

(@) ;Jrctei?izii a phosphorus-containing
er -

() Application of fertilizer to the soil
increases fertility of the soil.

() Urea can be prepared by action of
ammonia and carbon dioxide under
high pressure and at high
temperature.

(d) Urea contains more nitrogen than
other fertilizers.

90, Which one of the following statements is

not correct?

(a) Most carbon compounds are good
conductors of electricity.

(h) Bonding in organic compounds is
covalent.

() Graphite is used as 2 lubricant.

(d) Diamond is an allotrop€ of carbon.

PTAG/44A

an
. ction®
folloW? .g eactio?
91 Which o dec© Osiuor1 H olg
e 2rig
0,® )
(a) CHa 1ight (
A cl(s) ‘
() cuO+H2
504 @ (@9 »Cutd)
@ Fed FeSO
, s the
of fonowlﬂg oral
92. Whiclrrx1 . :lfsl of action
mec i
contface € pllls
@ ey 19 T o=
(p) They I the SP°
(c) They kil the =2 f egg
L it releas€ © ¢
(d) They inhibit the
nts has

93. Whic
unisexual il

(a) Papay2
(b) Hibiscus
(c) Mustard

(d) Sunflower

94. A cell is unable to synthesize lipids.
Which of its cell organelles might be
defective?

(@ Smooth endoplasmic reticulum
(b) Golgi bodies
(c) Lysosomes

(d) Mitochondria

| P.T.O.



All objects experienCe

are im .
l-tshey merseq i, 5 ﬂu?;agcy Wheg
(@) a downwary fOrc;e uOyemcy
@) 2 downwarg p
(¢ an upwarq force ©
(d} an upWard preSSUre
. According to Fj T
96 the fore:ﬁnger i?;ilca:;:ghbhand rule, if
rr.zagnf:tlc fielq and thuthe dj ection,of
et otion o o
the direCtio(;d Ortr_llddle finge th?l ;r:ilfcr;
(a) force acting op, the cop d
(b) electric fielq Heter
(c) induced Current
(d) current

97. Two resistors R, ang R

parallel Combination 2

in

(@ 3R=2R
(b)) 3R=2R,
() 2R=3R,
(d) 2R=3R,

arranged in

98. What is the magnification produced by a
concave lens of focal length 10 cm,
when an image is formed at a distance

of 5 cm from the lens?

(@ 2-0
(b) 1-0
(c) 0-5
(d) 0-33

DFR-F-TAG/44A
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99,

A wooden box of mass 2 kg an.d
dimensions (30 cm x 15 cm x 10 cm) is
placed on a table with sides 30 cm and
10 cm touching the tabletop. Which one
of the following is the approximate
pressure exerted on the table?

(@ 111-1N/m?
(b) 222.2 N/m?2
(c) 333.3N/m?

(d) 666-6 N/m?2

100. Why are the tyres of aircrafts made of

conducting rubber?

1. So that the charge accumulated on
the aircraft in flight, by rubbing the
air, can easily be transferred to
ground on landing.

2. So that the charge accumulated
due to the operation of various
electronic equipments in the
aircraft in flight can easily be
transferred to ground on landing.

Select the correct answer using the code
given below.

(@) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

[P.T.O.



imarily

Lastra, the classic lin 18 Pr
. shas sical w . of In¢
0¥ A" jitical thought, focuseg ;rr-k of Indian 104. The f"‘rli'lmcll:nOZIcl of
oy 'marily on pased on

(a) cconomy ) Germa mrliamcn

a °
Iture iamC
v " (b) British 2

(¢ statecraft

(d) monarchy

n t
among n office as

_ When did Charaka Samhita origj 108. Who
102 riginate? shortest spand. )
._ioter of ID 1a
(@) 6th Century BCE Ministe
(@) Lal Bahadur Shastt
(p) 3rd to 2nd Century BCE
() Chaudhary Charan Singh
() 4th Century BCE
(c) Chandra Shekhar

(d) 5th Century BCE
) H.D. Deve Gowda

(d

following does not fall

3. Early Buddhist sculptors did not show
f the apex court

Buddha in human form. Through which
of the following symbols was Buddha’s
presence shown by the early sculptors?

106. Which one of the
under the jurisdiction 0

of India?

(@ Empty Seat and Stupa only (@) Original Jurisdiction

(b)) Wheel and Tree only (b) Appellate Jurisdiction

() Wheel, Tree and Stupa only (c) Collegiate Jurisdiction

(d) Empty Seat, Wheel, Tree and Stupa (d) Advisory Jurisdiction

R-F-TAG/44A 27
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ding to the Ingj
/\C(,ol ) lan M
101, pcP“r“ncnlt’ which of thceteof"?bgical
ig/arC the feamrc/feat Olowmg
c]oudburst? ures  of

l.

g, Itoccurs generally qy
period and triggers
landslides

TIng monsoon
ash flood and

select the correct answer yg;
S
given below. Ing the code

(@ 1 only

(b) 2 only

() Both 1 and 2
(d) Neither 1 nor 2

108. In a group discussion on shape and size
of the Earth, three students stated the
following points :

1. Student 1 : The shape of the Earth
is basically an oblate spheroid.

2. Student 2 : The polar diameter of
the Earth is more than the
equatorial diameter.

3. Student3 : Bulge along the
equatorial region is due to
revolution of the Earth.

Who among the above students is/are

correct?

(a) Student 1 only
(b) Student 1 and Student 2 only

(c) Student 2 and Student 3 only

(d Student 1, Student 2 and
Student 3

FR-F-TAG/44A
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pout
. wS, yOu he 2 ar
109. While watePi®® T you had meYe :;out
place, © l no morte it on
earlier- YO you nt to loca s/ are
the place an” p of the following o the
the map: hlcu to be able © oes
e uircd o
;lgce on the map

of the place

(@) Only Jatitud®

of the place

(b) Only longitude
th Jongitud® and latitude of the
Bo

place

(c)

i f
) Latitude tongitude and altitude ©
( the place

of the following statements

110. Which one Global Positioning

with respect to
System (GPS) is not correct?

(@) Itis based on network of satellites

orbiting above the Earth.

(b) 1t is based on the system of
triangulation.

() GPS receivers provide location in
terms of latitude, longitude and
altitude.

(d) 1t proy-ides information exclusively
for military operations.

[ P.T.O.



which one of .
]11‘ cOnstitutiona] Comfollo

Win
m. . g .
Th SSion o'y ot 1
o S li d Naﬁonal C iy 114, Panchayati Raj Institutions are primarily
C e ul 0 L} . . .
ed Castes Inmlssion ; the institutions of
Or
The :
o Schedll_:]]ahon'Ell Co (a) Popular Government
€d Tribe, mmiSSion .
or
i b) Self-Government
(¢) The Natiop, (
al C
Backwarq ClasSes Ommission ( | Government
or c) Federal Gove
(@ The Nationg) .
Women mlssiOn fo (d) Quasi-Government
T

113, Which Chinese trqy

eller
wrote the dj Tl

calleq ‘n ancient India o .
Travels to Middle Indig» €Cords of the 115. Which of the followmg is/are t‘he nght/
a rights mentioned 1n the ‘American

(a) Wang Xuance Declaration of Independence’?
(b) Xuanzang 1. Life
(c) Yijing 2. Liberty
(d) Li Yibiao 3. Pursuit of Happiness
4. Fraternity

Select the correct answer using the code

113. The elections to the Lower House of the given below.

Parliament of India, held in 2019,
constituted the (@ 1 only
(@) 14th Lok Sabha
(b) 1 and 2 only
(b) 15th Lok Sabha

(¢ 1,2 and 3
() 16th Lok Sabha

d) 2,3 and
(d) 17th Lok Sabha (d) and 4
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Wy among the f\‘llo\\-in\

Amerie ~
. an 118. While trav
Nt s\»\xit‘m\ described dt‘moomo\ g vle travelling 1 A hilly
L yemnment of the  People. s notice n - massive boulde, TRlon, -y,
QOVT N Ple, for the loosened by | : Vhie ‘
wople and by the People™» ‘ Voheavy gy, m N \ Wi
ot downhilll This Ly roauly n Movey
1y . . o}
. which of the following Dl'nv”l e
Abraham Lincoln sanen?
1. Mass wasting
., Thomas Jeflerson 2. BErosion
. . 3. Weathering
o George Washington N
Qnlene N (N N nye v
b‘: lect the correct answer Using the coqe
. John F. Kennedy given below.

(@) 1 only
(b) 1 and 2 only

(c) 2 and 3 only
. |phabitants are unaware of the speed of

- ~otation of the planet Earth because (d 1,2 and 3
the angular velocity is constant for
each place on the Earth’s surface

119. Which of the following statements in
) the atmosphere rotates with the respect of landslides are correct?

Earth

1. These occur only on gentle slopes

during rain.
3. there are no nearby objects, either

station or oving at :rt;ate 2. They generally occur in clay-rich
E
different from that of the

soil.
Which of the above is/are the correct 3. Earthquakes trigger landslides.
c
“planation(s)? Select the correct answer using the code
given below.
(@) 1 only

(@) 1 and 2 only

b) 1 and 2 only (b) 1 and 3 only

3 onl
[ 2 and 3 only () 2 and 3 only

(@ 1,2and3

(P.T.0.

g 33
VR\F\TAGI 44A



C,onsidcr the following featy
res

P cographical phenom about
"o €hon a 122. The term ‘Industria] R
evolyg
Torrents of used by Olution’ waq g
{, Snow and ice o
down a steep m . roarin
Ountain sjqe g (@) J. A. Blanqui
it is hazardo .
2. Us to skierg and (b) T. S. Ashton

mountaineers

| ' (c) Arnold Toynb
3. It.lr}volves a mix of falling rolling o
sliding and flowing of materials’ , (d) R. H. Tawney

which of the following phenomena can
pe identified with the above features?

123. The Khudai Khidmatgar (Servants of the

(a) Slump and earthflow
God) was organized by

(b) Avalanche
(a) Mahatma Gandhi

[ Landslide (b) Khan Abdul Ghaffar Khan

(d) Rockslide () M. A. Jinnah

(d) M. M. Malaviya

0l The real beginning of western education
in India can be dated from 124. The Mahad Satyagraha o
organized by

f 1027 was

(@ the Charter Act of 1813
(@) B. R. Ambedkar

(b) the Charter Act of 1793
(b)) Mahatma Gandhi

o th t of 1929
e Sarda Act © (c) S. C. Bose

) the Macaulay’s Minute © (d) Lokmanya Tilak

Education, 1835
N p.T.O.
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{he 5*“.‘"*‘9]“”]"‘1{ Samaj (Truth-§
| W s se : -Secki
4 sm““t)) was set up by ng

yinoba Bhave

Jyotiba Phule
B. R. Ambedkar

(o

(d) C. Raj agopalachari

3th Century text Lekhapaddhati

. The 19H0 :
/ us information on which one of

{ves
the following topics?

(a) Art of writing
(h) Essay writing

() Legal document
(d) Epigraphic style
five leaders, who

Non-Aligned
he leader of

 Nkrumah was one of the
comprised the core of the
Movement (NAM). He was t
which country in Africa?

{a) Ni ge ria
(b) Kenya
) Uganda

@ Ghana

Ry
TAG/444 37

128. The idea of Planning in Ind
India was drawn from ependent

the Bombay Plan

(@)

(b) the demand made by peasants

(c) the' demand made by workers’
unions

(d) the Gandhian vision of India’s

future

129. Nisarga, Gati, Nivar, Tauktae and Yaas

are names of

new fighter aircrafts

(@)

(b) tourist places

(c) weather stations
(d) cyclones

the following States/UTs
with the Indian Railways
20217

130. Which oné of
was connected
network in the year

(@) Mizoram

(b) Ladakh
(c) Manipur
(d) Sikkim

[P.T.O.
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131. The forests of Uttarakhan
in Himachal Pradesh and = fie
in Nagaland and Manipgr were " he
news on account of which on€

following reasons?
(a) Deforestation

(b) Forest fire

(c) Poaching of wild animals
(d) Illegal mining

132. Which one of the following is correct in
respect of total number of States and

Union Territories in India?

(a) 28 States and 8 Union Territories
(b)) 27 States and 9 Union Territories
(c) 30 States and 6 Union Territories

(d) 29 States and 7 Union Territories

133, Snow, sleet and hail are the forms of
(a) precipitation
(b) condensation
[c) transpiration

@) evaporation

)
o “TAG/444

d, Kullu Valley

39

135. Which one of the following cjt

134. Which one of the follow:

the most Prevalent fo ng is likely ton
e

in hot-tropi
Pical desert areas?weatheﬁﬁg

(a) Mechanica]
(b) Chemical
(c) Biological
(d) Leaching

1es Wwas the

first to attain the status of 4 «
& Megacityn

(a) London

(b) Paris

(c) New York
(d) Washington

136. In India, rigid and stable elevated langs

denuded rocks and series of scarps
are the features of which of the

following?

(a) Northern mountains
(b) Peninsular plateau
(c) Northern plains

(d) Coastal plains

137. A person had visited a region in India and

found trees, such as Khair, Neem,
Khejri and Palas. Which one of the
following regions is she/he expected to
have visited?

(a) Malabar Coast
(b) Garo Hills
() Sunderban Delta

(d) Desert Region

[P.T.O.
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8. Consider the following statements :

Rocks do not remain in their
original form for long and undergo
transformation.

Transformation of rocks is caused
by  weathering,  erosion and
metamorphic action.

Wwhich of the statements given above
is/are correct?

(a)
(b)
(c)
(d)

1 only
2 only
Both 1 and 2

Neither 1 nor 2

139. Weathering, mass wasting, erosion and
transportation are indicators of which
one of the following processes?

(a)
(b)
(c)
(d)

Denudation
Endogenetic process
Diastrophism

Mountain building

140. If you want to observe moraines, eskers
and outwash plains, which one of the
following Union T erritories you may
have to visit?

(@)
(b)
(c)
(d)

Andaman and Nicobar Islands
Lakshadweep
Puducherry

Ladakh

SDFR-F-TAG/44A
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141. Legendary Kathak dance, P

Maharaj died recently, Handit Birju

doyen of which one of thee was the
Gharanas of Kathak? following
(@) Jaipur
(b) Raigarh

(c) Lucknow

(d) Banaras

142. In 2 first, India is to export BrahMos
missile to

(@) Bhutan
(b) Philippines
(c) Maldives

(d) Nepal

143. Who among the following is the Head
of the Committee appointed by the
Supreme Court of India to enquire into
the circumstances that led to the Prime
Minister of India’s convoy being stuck
for several minutes on a flyover in
Punjab recently?

(a) Justice Indu Malhotra
(b) Justice Ashok Bhushan
(c) Justice Navin Sinha

(d) Justice Rohinton Fali Nariman

[P.T.O.




147. Who among the fono\“'n .
Chairperson of the Goods alg] IS  the
Tax Council? d Services

who among the following retired from
test cricket by bagging a wicket on the
jast ball of his career?

144-

(a) The Prime Minister of India

a) AB de Villiers i i

(a) (b) The Union Finance Minister

(c) The Speaker of the Lok Sanby
a

(b) Michael Hussey
(d) The President of India

(c) Quinton de Kock

148. The International Union for Conservat
(d) Ross Taylor of Nature (UCN) has recen(g;
categorized the Red Sanders (Req
Sandalwood) into
145. Who among the following is appointed as (a) deficient category
the tenth Chairman of the Indian Space (b) endangered category

Research Organization (ISRO) recently?
(c) near-threatened category

(@ A. S. Kiran Kumar (d) critically endangered category

(b)) K. Sivan .
149. The Government of India has decided to

o X Radh b o observe Veer Baal Diwas’ on
c . akr

(@) 6th October
(d) S. Somanath (b) 26th November
(c) 26th December

d) 6th Decemb
146. According to the Forest Survey Report, (d) ember
2021, area-wise which one of the

following States has the largest forest 150. On 14th January, 2022, which one of
cover in India? the following ministries has organized a

global Surya Namaskar Demonstration
(a) Odisha programme?

(@) The Mini
() Madhya Pradesh inistry of Culture
(b) The Ministry of AYUSH

(c) Arunachal Pradesh (c) The Ministry of Health and Family
Welfare
(d) Chhattisgarh
(d) The Ministry of Tourism

SDFR-F-TAG/44A 43
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